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Instructions for the candidates :

Candidates must enter his / her

, Serial No.
yyq gitasr #daie (10 sl &) (10 Digits) in the OMR Answer

5 ghErd  FurGde 3'717-_-} el § 8 2 Candidates are required to give their
' answers in their own words as far

Cir o as practicable.

5 =i 2 307 21 ?Wﬁ'ﬁ@ WT’W 3. Figures in the right hand margin

indicate full marks.

fafeee #vd &1

4 ¥ 933’_ UE,’# & fom 4. 15 minutes of extra time have been
allotted for the candidates to read

15 e &1 sifafi qaa fGar 7 & the questions carefully.
5. %E geUd @ @uef i ¢ _ mua-aor e 5. This question booklet is divided into
T two sections — Section-A and
qrE-af Section-B.
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7qUs - 3 / SECTION - A

TETS UIA / Objective Type Questions
T qeAr 19 100W%m%mwﬁm:%vw#ﬁﬂﬁ#wam?rﬁ7ﬂ

s50¥F % T A FIT A Y AF AT F OMR Pz 0 KT FE
50 <1 =50

Question Nos. 1 to 100 have four options, out of which only one is correct. Apswer any

50 questions. You have to mark your selected option on the OMR-Sheet. OO x 1'= 50

1. afe @g9g 6x3-11x2 - 3x+2 % YIF a, B, v B A1 ap+Pytay 1 A &

IV B =

© - LI

D=

If «, B, y are the zeroes of the polynomial 6x” ~11x? - 3x+2 then the value of

afy + By + ay will be

(A = (B) 3—%—1-
; 1 1
© <8 (D) 3

2, Afg WgUT x2 - 3(x+1)-5 P AP o, BB AT (a+1) (B+1) FT T 0

(C, -4 D) 4
S-11 |- [20031-77/80) Page 3/48
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If a, B are zeroes of the polynomial x2—3(x+l)—5 then the value of

(+1) (B+1)will be

(A) 3 B) -3

©r -4 D) 4

S TG x2 + px—q YA TH-GW & FoHT & A g FT TEA

A) -1 B) 1

© p (D)  p?

If zeroes of the polynomial x2+ px-q are reciprocal to one another, then the

value of g is

(A) -1 (B) 1

© »p D) p?
frferfaa § @i e frer agow & e s - 2 3 6 & ?

AN % - ax-12 B x%+4x-12

() x?+4x+12 (D) 4x2-x4+ 4

Which of the following is a quadratic Polynomial whose zeroes ar B ol

2
S B)  x?+4x-12

s 2
(C) X“+4x+12 (D) ax? - x4 4

e R

-S-II -
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5. Yaw T G 2x - 3y+2-0, 6x - 9y+5=0 F fhe &1 &1 ?
(A)  TF IR hael T 74 (B) WIS & Tl
(€ S get D) T A &S T

How many solutions does the pair of linear equations 2x-3y+2=0 and

6x -9y +5=0 have ?
(A)  One and only one solution (B) No solution

(C) Infinitely many solutions (D) None of these

6. k¥ 5T OH & o0 FEHGOT kx + 2y = 5 T 3x + y = 1 T T Hgallg &1 811 2

(A) k=6 B) k=6

© k=12 D) ¥ § #IS 7@l

For what value of k: the equations kx + 2y = S and 3x + y = 1 have a unique
solution ? |

(A) k%6 B) k=6

(C) k=12 (D)  none of these

7. 7 Y e & e A e e @ el 9 wer

() ST O) A F¢ @

S-11 |- @03 1-(77/80
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The graph of two linear equati

will be
(A)  zero (B)
(C)  infinitely many (D)
y—4 =0 STeNE HE T @ i ?
(A)  x-378 & GHIM (B)
(@ TEgEeE . (D)

[210]

ons is parallel lines, then number of solutions

one

none of these

T | T Tl

What type of straight line wﬂl the graph of y— 4 =0be ?

(A) Parallel to x-axis (B)
(C)  Passing through origin (D)
afz 2x+3g=l1 AR 2x-4y=-24, dl

(A) x=2,y=4 (B)
(C) x==-3,y=1 (D)
If 2x+3y=11 and 2x-4y=-24, then

(A) x=2,y=4 (B)

[(-"] -’f_"'3.y=1 (DJ

Parallel to y-axis

None of these

x=-2,y= 5
K==, ==
x==2,y= 5

| S ]-
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11.

12.

{210]
e 3 B fam g =9 3 0

T A (x+1)? =2(x - 3) B) (x-2)2+1=2x-3

©) (x-2)(x+1)=(x-1)(x+3) (D)  x(2x+3)=x2%+1
Which of the following is not a quadratic equation ?

(A)  (x+1)2=2(x-3) B) (x-2)%2+1=2x-3
(C)  (x=2)(x+1)=(x—1)(x+3) (D)  x(2x+3)=x2+1

Frgait (2, 2) 31N (-2, 2 % et aTeh Yranete & g & e ¥

—~

(A (2.-2) B (0,0}
© (1,1) D) (4.4)

The coordinates of the mid-point of the line segment joining the points

(2,-2}and (-2, 2) are
A (2,-2) (B) (0,0)

e (1,71) D) (4,4)

%{ﬁﬁﬂﬁﬁ%(s,oﬁaﬂ?w%ﬁvﬁé(z,a)@(1,-4)%?1???!’8?{
e

(A)  (5,2) B (1,3)

C) (6,1) (D) (2,-3)

The centroid of a triangle is ( 3, 0 ) and its two vertices are (2,3)and (1, -4 );
then the third vertex is

A (5,2) (B} (1,3)

€ (6,1) (D) (2,-3)
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14.

——

{210]
i fedl gt & il & faswii (0,0, (4,0) W (0, 1)@ @ Byt @ atawer
aut
Ay 3 B) 4

C) 2 (D) 1

I the coordinates of the vertices of a triangle are (0, 0 ), (4, 0)and ( 0, 1 ) then

the arca of the triangle is

(A) 3 (B) 4

c 2 (D) 1

gel (- 1,3)Td (-5, 7)F AT M@

A 22 T B) 4J2 T
b S
)  3J2 = D) V2 T
Distance between the points (- 1, 3 Jand (-5,7)is
A 242&hits (B)  4v2 units
(C) 3J2 units (D) V2 units
:'11'7.171:;}4] (x,.y;) 3R (X, Y ) Wﬁ?ﬂmﬁmﬁm nif\‘iﬁml;?ﬁw:{
A @ & e g
A \

i m+n min | m+n ' m+n
" fmx2+r1x[ my., +ny, ) “ oo
kel ( m-n ' m-n ; (D) = | s Tl

51 |~ ]20031-(r7/s0) | Page 8/48
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The coordinates of a point which divides the line segment joining the points

(x;,y,) and (xg: Y,) internally in the ratio m : n, are

A) mx, +nx, | my, +ny, G B) mx, —nx, my,-ny
m+n min m+n ~ m+n
“ mx, +nx, my.,+ny, )
2 Yy
(C) [ . -, —2 (D)  none of these
n m-n. ]

16. afe fdl 3iF & THYS HT STE 880 UHI2 R B 14 9 & o IR ol

S grtt
(A) - 40 QHl B 209
(©) 80 |H (D) 10

If curved surface area of a cone is 880 cm? and its radius is 14 cm then its

slant height is

(A) 40cm (B) 20cm
(C) 80«€m (D) 10cm
17. Wﬁﬁéaﬁﬁéﬁ%mwmﬁg:m%ﬁmwwém
S (B) 16:9
Jor5 4 (D) 4:3
F-314/314 S-1I |—] 20031-(77/80) Page 0,48
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18.

19.

[210]

The ratio of the volumes of two cylinders of equal height is 9 : 16. Then the ratio

of their curved surface areas is

A) 9:16 B) 16:9

) 3:4 (D) 4:3

e Wi H Ot waE B et 18 3 ol S R GoE, YiE F SR F

e ) G ¥, A WF SR LA €

A) 62 (B 1272

€ 1872 (D) 24T 2

The total surface area of a cone is 18 m”and its slant height is twice the radius

of base of the cone. Thenithe area of the base of cone is

A) 6 mé B) 12m?

(€ 18m” D) 24m?

21 7ot & AT TSI 8 ; 27 & Al 39 WU IS o &EhEl Bl AT &I
(B 2:3 B) 4:5

C) 5:6 (D) 4:9

The ratio of volumes of two spheres is 8 : 27. Then the ratio of their total surface

areas 18
. I B) 4:5
(C) S:6 (D) 4:9

S-1I | = 20031—{77!8(ﬂ
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WWWWWVWWGmﬁQ %?ﬁ’ﬁﬁ%a:mm
(A) 7 & | B) 14 i

(C) 28 dH | (D) 569t

If the total surface area of a sphere is 616 cmg, then the diameter of the

sphere is
(A)  7cm B) 1l4cm
(C) 28cm (D) = 56 cm

Jmadq s gt & Frer a)x+by=c,, a,x+byy=c, & AR & W eld

b, c

a) L=Lxl B bele_l
a, b, c, a, b, c,

© A.oagM o A b_a
a #05,° ¢, | A Yy G

The system of ir of li i =
Y of a pair of linear equations a1x+b1y—cl, 1512x+4b2y=c2 has

infinitely many solutions if

(A) fl_zb_l‘tc_l (B 94 b ¢
a, b, ¢ ) E_’&_b_‘_'“_
- - 2 “2 S
a, b c
& i SV S a, b
(C) 3", e B el S
a, b, C,

—I 2003 1-(77/80 Page 11/
age 48
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22.

23.

24,

[210]
saBC #, 9o AB US AC W Fme: D Ud E feg €1 9 DE || BC AD = 4,
DB=x-4, AE=839 EC=3x~ 19 @l x &I A &1 &1 ?

) (B) 10
© 11 D) 12

In AABC, D and E are poinfs on the sides AB and AC respectively. If DE || BC,
AD=4 DB=x-4, AE=8 and EC=3x-19 then what is the value of x ?

A 9 (B) 10

€ 11 (D) 12
Efrwmﬁga‘iAchainR%aﬁaww:m@ﬁr?aﬂ?49@ﬁ‘rz%|uﬁ:
AABcﬁ“’EErrM-s@Tﬁa’rﬂ’mPQRﬁ*ﬁﬁwﬁTﬁ?

@A) 4z B) 3-53d

) 259 (D) 1-59H

2 2
Areas -of two similar triangles ABC and PQR are 81 cm® and 49 cm

respectively. If the height of AABC is 4-5 cm then what is the height of APOR ?

(A) 4cm (B) 3:5cm

(C) 2:5cm (D) 1-5cm

r AT & fawul 6 A SR 8 [ ¥ 1 gHen! W e HefarEd § e
T & 7

(a) 34 (B) 4 Qi
(€ 5@ (D) 7 9
S-1I | = | 2003 1-(77/80) Page 12/48
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26.

[210]

The diagonals of a rhombus are 6 cm and 8 cm. Its each side is equal to which

of the following ?

@ 3em (B) 4cm

€ Sem - (D) 7cm

§ WHEY IS ABC 3R POR & URHIU wEE: 36 AW N 24 wH &1 AR
PQ = 10 4 A1 AB SRR &

(A) 16 FHl B) 15 9H
() 209 (D). 25|t

The perimeter of two similar triangles ABC and PQOR are 36 cm and 24 cm

respectively. If PQ = 10 cm then ABis equal to

(A)  16cm (B) 15cm

(C) 20cm \ (D) 25cm

oo TR T ST 443 2 ¥ o ge Ry g @ ?

(A) ogHt (B) 12 |H

(€) 12/3 |t (D)  6J3 |

The area of an equilateral triangle is 43 cm?, What is its perimeter ?
(A)  9cm B 12em

Q) 1345 em O)  6J3cm

S-1I [—| 20031 -(77/80)
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28.

[210]
12 St e aret Srdgw w1 el uRiAfd gl
@) (re1)12 T B) (n+2)12 T
©)  (n+3)12 T : (D)  6n SHI
Total perimeter of a semicircle of radius 12 cm is
(A)  (n+1)12 cm B) (n+2)12 cm
(C] (n+3)12 cm (D) 6mem
U EER T i Al e et Bl s H R T r& af Serd T SAHeT 81
(A m(RP+r?) (B) n(é—r)
©  n(R%-r?) (D) =w(R+r1)

The external and internal radii of a circular ring are R and r respectively ; then

the area 6f the ring is
(A m(R*+r?) B) w(R-r)

(C)  n(R%*-r?) ‘ (D) =w(R+r)

29, TEHEI 99 & F5 4 8 U o) Sian Y =ad g4 3 QI @ ol g9 1 S g

(A} 4 M B 5w
(C) 10 44 D) 8 auy
S-1I |~ 20031-(77/80) Page 14/48
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The minimum distance of a 8 cm long chord of a circle from the centre of circle

is 3 cm ; then the diameter of the circle is
(A) 4cm (B) 5cm

(C) 10 cm (D) 8 cm

30. € 7 % GG 1 FAA 9 : 4 % A IAHT RN HT S FT

(A) - 3:2 B) 4:9
LS PR
C 2:3 D) 81:16

The areas of two circles are in the ratio 9 : 4 The ratio of their circumferences 1s

(A) 3:2 B) 4:9
c) 2:3 (D) 81:16

31, y-oE I EHER S

(A) X0 (B) y=0
JSYT x=y (D) T | FIE T
The equation of y-axis is
(A)  x=0 B) y=0
@ =x=y (D)  none of these

S-II | —| 20031-(77/80)
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4o D I 1 I 1: 27 €, 3 G US &FGAl 1 I F
(A) 1:3 - (B 1:8
€ 1:9 (D) 1:18

Two cubes have their volumes in the ratio 1 : 27. The ratio of their total surface

areas is
A)  1:3 B) 1:8
(C) 1-: 9 (D) 1:18

33. U oAl WEeh! B 2 €, 3T A &

3273 16 nr°
(A 5 (B) 3

8nrd | 64nr
(C) 5 (D) 3

The volume of a sphere, whose radius is 27, is

3273 " 16nrs
wv. 2 ® =

8mre 64nrs
(C) 3 (D) 3

34. A2 6,8,9,x T4 13 H A 10 ¥ A x & HE AT

A 12 B) 14

C 1(
(C) ) D) 1

S-11 | -1 20031-
| 0031 (77/80) | : Page 16/48
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If the mean of 6, 8, 9, x and 13 is 10, the value of x will be
(A) 12 (B) 14
(€) 10 (D) 11
33. 15,6, 16,8, 22,21, 9, 18, 25 i HIEIHI Gl
(A) 16 | (B) 15
) 18 (D) T A HIe e
Median of 15, 6, 16, 8, 22, 21,9, 18,251s
(A) 16 B) 15
(C) 18 (D) none of these
36.  23;15, 25, 40, 27, 25,22, 25, 20 T SETH ET
a) 20 | B)~ 25
©) 23 (D) 9 ¥ IS &l
Mode of 23, 15, 25, 40, 27, 25, 22, 25, 20 is
(A) 20 ® 25
(C) 23 (D) none of these
S-1I | —| 2003 1-(77/80) Page 17/48
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3

38.

3T®e 12, 25, 15, 18, 17, 20, 6, 11, 16, 30, 20, 32 HI UG &

(A) 10 (B) 15
(C) 26 (D) 18
The range of the data 12, 25, 15, 18, 17, 20, 6, 11, 16, 30, 20, 32 is
(A) 10 (B) 15

(C) 26 (D) 18

T HFTA 130 - 150 HT o1 Foe &

(A) 130 (B) 135

(C)] 140 | (D) 145

The class mark of the class interval 130 - 150 is

(AJ N30 (B) 135

(C) 140 | (D) 145

2 AR AR T demai & me 6 % @ g a9} dem sy o

(A)

n

(B) 9

1210]

S-11 |- [ 200317780/ |
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40.

41.

12101

If mean of four consecutive odd numbers is 6 then what is the greatest

number ?

@ 5 | | B 9

) 21 D) 15
e § @ w1 7Y T € 2

(A)  TH B)  HifeaH
(© e | () R

Which of the following is not a measure of central tendency ?
(A) Mean (B) Median

(C)  Mode (D)  Range
&t FEE & HoTo 27 TddloTo 162 €1 4K 3H & Uh WE&AT 54 ¢ O TE-I HE&A
1 Bl 2

(A) 36 (B) 45

) 9 k{pa/'/&

The HCF of two numbers is 27 and their LCM is 162. If one of the numbers is

54, what is the other number ?
(A) 36 (B) 45

< 9 (D) 81

S-II | =1 20031 -(77/80)
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N

43.

44,

[210]
dEan 12, 15 Td 21 &1 HoHo &'
(A) -3 B) 5
e 7 (D) 2
The HCF of numbers 12, 15 and 21 will be
(A) 3 B) 5

c 7 (D) 2

el s U ¥ R e ST P U S BT §
(A) 649 (B) 6g+2

(C) 6g+1 (D) 6g+4

For some positive integer g, Every positive odd integer is of the form

(A) 649 B) 6g+2

(C) 6 g+l (D) 6g+4
yRREd e Bl €

(A) TS WEd HE B) TH IO HEA

(C) TF qUIH (D) e aTdidIeh He

Every rational number is

(A) a natural number (B) a whole number
(C)  an integer (D)  areal number
S-1I | — | 2003 1-(77/80) Page 20/48
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45, 22}
f
(A)  ulEE g B) Uiy de
C) Ul | i i
(C)  UUT& Hen (D) 39 | &IT =&
22 .
- 15
i/
(A) a rational number (B) an irrational number
(C) an integer (D)  none of these
6.  THUIT 9% & YT @Y G R e & o
A ] ~ &
(A) By 2
() 3 D) 4
What is the number of zeroes of a quadratic polynomial ?
(a) 1 B 2
) 3 D) 4
7. [EATATET IR EgaE 6l € 2
(A) %xwl (B) 2-x24+3x
B shies (D)  x°
x~1
Which of the following is not a polynomial ?
-2 -
(A)  Zx+] B)  2-x?+3x
s 1 ‘
€ = (D)  x3
S-11 |~ [ 20031-7/80)|
[— (77/80) | Page 21/48
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48.

49.

50.

[210]
4% plx)=q(x). glx) IR pulﬁTWﬂ=“7Wig&dﬁTma=:3m'E%%Gﬂwﬁ
BT
Aa) 3 B) 4
€ 5 (D) 7

If p(x)=q(x). g(x) and degree of p(x)=7 aIlld degree of g{x)=3, then degree of

M will be

g(x)

A 3 (B) - 4
) 5 (D) 7

afe 9gUE p(x) BT Uh IEF - 2 € A HAGHEd H B p(x) S Th [OHEIS
B 2

(A)  x-2 (B) x+2
C) x-1 (D) x+1

If - 27is a zero of polynomial p(x) then which of the following is a factor

of p(x) ?

A  x-2 B) x+2

€ x-1 (D) x+1

A TEIE X2 ~ 4x+1 F IAF o, p & A o pF HH G &
(A -1 \@/1 |
© 3 O -+

S-1I | = | 20031-¢77/80)
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If «, P are zeroes of the polynomial x2 - 4x+1 then the value of « f} is

A -1 B) 1

& = el

51. 3 fordl SaRan Yot %1 A 27 we wiftTsT 33 @ sger e
(A) 30 (B) 43
(C) 45 (D) 47
If the mean of a frequency distribution is 27 and median is 33 then the mode is
(A) 30 (B) 43
(C) 45 (D) 47
52.  #AEYT "l &I WIGehdl &ldl &
A = B 1
2
e o D 3
The probability of an impossible event is
i
i B 1
(A) 2 (B)
c 0 o) L
3
S-11 [—| 20031-(77/80) Page 23/48
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afg P(zs)i%ﬁmgﬁqﬁaﬂﬁﬁﬁmﬁﬂiﬁﬂﬁﬁ?-mﬂﬁ% ?

53.
(A)  P(E)<O B) PE)>1
(C) OsP(E)<1 (D) -~1<P(E)sl
If P (E) is the probability of an event E, then which one of the following is true ?
(A)  P(E)<O (B) P(E)>1
(C) 0<P(E)<1 (D)~ =1<P(E)<1
54 afz Pt Qe B e w1 wiEwd 0-4 % A 3Y A I sufaar g
A) 096 (B) -0%—4
© 06 D) T q HIE Tl
If the probability of winning a game is 0-4, then the probability of losing it is
(A) 7096 (B) 6%?
(€) 0-6 (D) none of these
55. %1 fanl 7 o 39T H w st ol e o) o s ¥
& 3 ® 1
) % D) 1
S-11 |- 50031—177;301 Page 24/48
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56.

7.

[210 ]
In tossing two coins simultaneously, the probability of getting no head is
@ 3 ® 1
(€) % (D) 1

FriciEa F @ et e @ wifrsa @1 & e & 2

-

(A) 05 By 15

. 3
(C) 0-08 D)

Which of the following cannot be the probability of an event ?

(A) 05 B) 15

(©) 008 (D) %
ST Y ATl SLawl B fhaH! SHARTS R @ gt € 2

(A) 1 ' (B 2

© 3 (D)  3YUNFT ®9 ¥ 3%

What is the number of common tangents to the two circles touching internally ?

a1 B) 2
(C) 3 (D) infinitely many
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58.  Alg x? +;13 ~14 81l x4 ",IC &l 1 BT

(A) 3 B) 4

(C) 5 D) -2

If x2 +:,1:'2' =14 | then the value of x+-}c~ is

(A) 3 B) 4

€ S D) -2
59. WHITR %l 2, 6, 10, ... & TG 11 Y31 H ANTHA &

(A) 240 \@ 242

(C) 248 (D) 200

The sum of first 11 terms of an A.P. 2, 6, 10, ... is

(A) 240 B) 242

(C) * €48 (D) 200
60. T ol st H B - &1 At 3% WAt U T e BRT

(A)  2nr? B)  nr2

(C) 3nr? (D) 4qur?

If ris the radius of a hemisphere then its total surface area will be

(A) 2nr? (B) 2

(C)  3nr? - D)  4nr?

(5] (20031 e poge 26/

BiharboardQuestionpaper.com


https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

61.

(A) 14T B)

(C) 284 )

1000 FFHT VI 3 Ueh fgan g fepeft wr sz &1 afew by =2m &

24 Y
40 |

(210 ]

[n making 1000 revolutions, a wheel covers 88 km. The diameter of the wheel is

(A) 14 m (B)

(C) 28 m (D)

62. cos(90 -0)=

(A) cos 90° +-cos O _ @,/
(C) -sin® (D)

63. 9% 0=45° d cos20-sin20 FTHF BN

Ay 1 (B)

C/(C}/ 0 (D)

If 0=45°+then the value of cos?0-sin?0is
(A) 1 (B)

Cc) O (D)

-

64. fa=ATetad o feasr a9 V2 & RE & 2

(A)  tan 60° (B)

(C)  sin 30° oy

24 m

40 m

sin 0

—cos 0

Njw |-

oW N

cos 45°

cosec 45°
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Which of the following has the valuc cqual to V2?2
(A) tan 60° (B) cos 45°
(C)  sin 30° (D) cosec 45°
65. d% cos 32° = x AR 00358°=yﬁ}ﬁmi%’lfﬁﬁﬁ'@ﬁq-mw% ?
(A) x>y B) x=y
© x<y D) ¥ YK
If cos 32° = x and cos 58° = y then which of the following is true ?
A x>y B) x=uy
(C) X<y _ | (D) None of these
66. A 0= 45° 1 tan 0+ —— I H FEW ?
sin“ 6
(A) €y B 2
(c) 3 (D) 4
If 0 = 45° then what is the value of tan® 9+—'1— ?
sin” 0
(A) 1 (B) 2
S-11 |—| 20031-(77/80) Page 28/48
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68.

69,

4T sin 42° = p @ sin 48° %1 OF FEfafad § SH-91 e ?

Al p B) -p

(C) 1- p? (D)

(A p B) -p

(C) 1- p? (D)

Ifg tan9=—1§g-?1:f sin © T T &N

5 12
(A) 12 \_(,E)/ 13
5 12
<© 13 D) =
If tanB:% then the value of sin 6 is
12
5 —
(A) 12 (B) 13
5 12
© 33 D) =
S p psin@-gcos0 T T N
5 um():a psin0+qgcosd
2 2
y P’ +q
A q
(A) P p2 - q2
p2 * qZZ [D] Pz—q2
©) 2 2 2
P +q

[210]

S-1I |~ 2003 1-(77/80)

BiharboardQuestionpaper.com

Page 29/48


https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

70.

[210]

ysin - gcosl i

If tant= :ri then the value of '}jsmlH- ¢ cos0

’ p-z +q°
A p - (B) -
2 2
>y 2 -q
g EEL R
e 2 p°+q
(1+cot20) (1-cos?0)=
2
(A)  sin?0 (B) tan”0
(C)  cos?0 (D) 1

afe uFT UHIIREH a=bg+r Ha=37 b=4,r=1dlg=

(AL~ 9 B) 8

S

(c) 10 D) 7

If in division algorithm a=bg+r, a= 37, b=4,r=1 then g =

(a) 9 (B) 8

firere At & =T aite qerat siifthfara s
FAYE TUE, ATew e, -6,
(C) 10 D) 7 UTSIHH, sieH, Als a2, -3 e
, WMo udten vss vz 3nfa & f3e...
5 ?_ 3:{3:”334 -']IU :E:@'é q a!“ia; W ?
120 N - ( BiharboardQuestionpaper.com B
(A) 2 B) 1 ‘_
(C) 3 (D) 4

What is the exponent of 2 in the prime factorization of 156 ?

&S D) 4
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(210]
73.  Pieiea 4 # smfoyg den @ & 2
@ 2+v3 (B) 5-43
{C] e =t el
Vs | OE
Which of the following is not an irrational number ?
(A)  2+43 : B) 5-43
J3 J2
C = D Vi
© 5 L
74. 0105 T = psm wY Frfefad 5 dF & 2
x
12 21
B —— it
(A) 5% .50 (B) 5.7
0 i D) T § B @l
23 x53
Which of the followingis e form of 0-105 ?
X
12 B 21
A) 24459 (Bl 23 x52
= D) none of these
@ ( eo
= 23 x53
75, Frefetad o @A oRkeg @ e ?
(A) 4447 (B} 10++100
) 2+43 D) 5+45
S-1I |—| 2003 1-(77/80) Page 31/48
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1210
Which of the following is a rational number ?
(A)  4+VJ7 (B) 10+4/100
(C)  2+V3 (D) S+V5
76, T=fefEa # fhge qymee YR 9id & ?
R B) i
© = D) =
Which of the following has terminating decimal expansion ?
A s . ® 3%
(C) 8% (D) %
77. &1 €9 qUliehl @lHK b 3 foT (a, b):bﬁo LS, i B
(A) 1 (B) 2
(C) 0 (D) a+b
For two positive integers a and b Het (a,b]:bLCM(a,b] is equal to
(A) 1 (B) )
< 0o (D) a+b
S-1I [ —=| 2003 1-(77/80) . Page 32‘_;;
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78.  FldfEd § S9-w g gg-ameg ¥ 2
(A)  (14,35) B) ( 18, 25)
(€)  (13,52) (D) (21, 84)
Which of the following is a pair of co-primes ?
(A)  (14,35) B) (18,25)
€) (13,52) (D) (21,84)
79. Freifetfan 3 @ @ e G 7
A 11 B 21
(C) 31 D) 41
Which of the following is a composite number ?
A) 11 (B) 21
© 31 (D) 41
g0. el § & FA Swd HEAT E 2
(A) 33 ' (B) 39
(c) 38 JdPyT 31
__, S-1I | = 2(5031477;301 Page 33/48
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Which of the following is a prime number ?

A 33 B 39

(C) 38 | (D) 31

k % forg 7 & feru fgama ieRor 9x? + 3kx+4=0 * gl A € 7
(A) £ 5 (B) + 4

() +3 | Db =9

. ; 2 i
For what values of k, the roots of the quadratic equation 9x +3kx+4=0are

equal ?
(A)  +5 B 4
(C) +3 D) 9

*qﬁ{ x-y=6 3ﬂ"{ x?2 -+_y2_.=30 al xy T HH 'tﬁ"TT

@) 2 By ~2
c 3 (b)) -3
If x-y=6and x> +y;3 =30 then the value of xy will be
(A) 2 (B) -2

c 3 (D) -3
AT FHIEROT y? +3y - 18=0 F TeT g1t

A) -6,3 \@/6,—3

© -6.-3 D T A

.S*“ ~ | 20031-(77/80 Page 34/ 48
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The roots of the quadratic cquation y2 +3y - 18=0 arc

(A -6,3 (B) 6,-3
© -6,-3 (D)  none of these
84.  THHIG THET x2 4 x 1520 % Tell & Wl &
(A)  Adie® AR T (B) aRdfas HIX TEHN
\(Q S STt D) 3 4 HIE Al

The nature of the roots of the quadratic equation x2 +x+5=0 is
(A)  Real and equal (B)  Real and unequal

(C) Not real | (D) none of these

85. [i=ifcifigd H s wHiay ¢l A¢ ¢ ?

A 17,55, 7°.75.4 B)  v2,v8,/18,432,...
(C) 10, s AN2, 2, ... 3 (D) 02, 0-22, 0-222, 0:2222, ...

Which of the following is not an A.P. ?

By 1°,.5°% 79,78, B)  V2,48,V18,V32,...
(€ -10,-6,-2,2, .. (D) 02,022, 0-222, 02222, ...

86. Az ol AR S N n A U 5 - 3n @ A TEH W R &
(A) 5 B) -3

< 4 (D) 3
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87.

88.

; 1S
y o n difference 1
(f i term of an A.P. is 5 — 3n then 1ts commo

(A) 5 B -3
) 4 o) 3
21,18, 15, ... T HH-G1 0G YA E ?

A)  7d | 87
© od o) 5a

Which term of an A.P. 21, 18, 15, ... is z€ro ?
(A) 7th (B) g8th
€ 9 - (D) 5=

THIR 3G 7y V28, /63,... T AT 1 E ?

@A) V70 B) V84
© 98 D) Y112

Which is the fourth term of an A.P. ﬁ, V28, J63,...?

[210!

A J70 B) V84
©  Jo8 D) V112
S-11 -—I 20031-(77/80n | Page 36/48
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89.

90.

1.

[210]
ala 2 ¥ » &) - T Uity
g a2 e wni gt & I HETIG Ug & ol a 1 A @I

(A) (B)

SN IS
il wla

(€) (D)

2 -
i a a, 2 are three consecutive terms of an A.P. then the value of @ will be

(A)

W

(B)

B

(©) (D)

Kl »N

afe GHiER F HT WUH 9T ¢ 3R GE A d @, A 39 TAH n UG I FTHE

(A) a+(n-1)d (B) a+ nd

N> %[2a+(n—1)d] (D) %[2a+nd]

If a is the first term and ¢ is the common difference of an A.P., then sum of its

first n terms 18

(A) d+(n-1)d (B) a+ nd
© Z[2a+(n-1)d] 0 Z[2a+nd]
om0
1+cosb
(A) sec O —tan 0 (B) cos0-sin0
(C) cosec O —cot O (D)  tah 0 - cot 0
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92, TH AR AR #) olerd vd @ ST H) e H S 13 & @ oy

93.

94.

(A)

(€)

The length of a vertical wall an

3IFGA &Iv] B
30° (B)

60° (D)

d length of its shadow are in the ratio 1:¥3. The

angle of elevation of sun is

(A) 30° (B)
(C)  60° (D)
sec30°

cosec60®

2

A — B
(A) 7 (B)
C V3 (D)
2sin® 68°% 1+ 2sin? 27°

3082170 -2+ 3c0s273°

(A)

(C)

=
P20 ol
-4 %

(A)

(C)

3

5 (B)

2 (D)
cos(u+p) =0, d sin(a-f) =

sin u (B)

sin 2 «

(D)

= -
[571]- (3003 ]

45°

90°

45°

90°

w|n

cos

cos2f
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[210]

T cos(a+B) =0 then sin(u—ps) =

(A)  sin o (B)  cosp

(C) sin2¢g (D) cos2pP
9. Ty (=2,-5) & g &

(A) -2 (B) -5

(C) 3 (D) -7

The abscissa of the point (- 2, - 5) is

A) -2 - | B) -5

€ 3 (D) -7
97.  x-3E W Tohat fog b1 y-Fame B &

(A) 1 B 2

0 - (D) TH ¥§ IS 7@l

(€)

The y-coordinate of any point on the x-axis is

B 1 B) 2

c 0 D)  wiane of these
98, fawg (3,-4) fere weier A R € 2

2 B) faclh

© i APy T
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BiharboardQuestionpaper.com


https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

99.

100.

The point ( 3, - 4) is located in which quadrant ?

(B) Second

(A} First
(C)  Third (D)  Fourth
3 fog (3,5)F

(A) = 5 B) 3

€ 2 (D) 8

The distance of the point ( 3, 5 ) from x-axis is

A 5 ' B) 3

© 2 - B 8
Qﬁ%{ﬁ@ﬁﬁ(?,y)ﬁ%{ﬁﬂ% ?

A) X -y B x*+y’
€ x2-y? | D)  x2+y2
What is the distance of point ( x, y ) from the origin ?

() Yx*-y? ® <2y
©  x* -y D)  x2+y?

[210;

gl i EOOSI‘W'UBD]
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- | 210 ]
QUS - ¥ / SECTION - B

Y I ¥ / Short Answer Type Questions

mm 1#30Wﬁgaﬁﬁam#lﬁﬁ#&ﬁ 1599 & 3¢ &1 gedw AvA &
forg 2 siF Fraifea &) 15 x2 =30

estion N
Qu : os: 1 to 30 qre Short Answer Type Questions. Answer any 15 questions. Each
question carries 2 marks. 75 x2 =30

. T8¢ & % tan1® tan 2° tan 3° _ tan 89° < 1. 2
Prove that tan1° tan 2° tan 3° ... tan 89° = 1.

2. 88 # 7 (sec? 6- sec?0)=(tan?0+tan® 0). 2
Prove that (sec* 60— sec? 0)=(tan? 0+ tan? 0).

2 o 2 o 2 o e
S5cos® 60°+4sec” 30°—tan” 45° o oo s 2
sin? 30° + cos? 30°

Scos? 60°+ 4 sec? 30°-tan? 45°
sin? 30°+ cos? 30°

Find the value.of

4 A9 TgFs @ UF 9Y IS ST € Al 96 el @9 9o e | 2
Three coins are tossed simultancously. Find the total possible outcomes.
5. a0 4w e a1t g % 39 RTES H &bhe PR foree dia @i 3001 2

In a circle of radius 42 cm find the area of a sector whose central angle is 30°,
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fepTet |

respectively.

Find the area of a ring whose outer and inner radii are 23 cm and 21 cm

6. fAmafatad @ &1 ang 71d HY 2
a-,f_m. 0-100 100-200 200-300 300-400 40‘0-500__1
IRIRAT 6 9 15 12 8
Find the mean of the following distribution :
Class-interval 0-100 100-200 | 200-300 | 300-400 400-500
Frequency 6 9 15 12 8
7. U ASIAHR @d S URMEN bl afg 38ehT a9 24 941 & | &
Find the perimeter of a semicircular field whose diameter is 24 cm.
8. 8 WH! S A 3LEA SR ¥ g Ru mw ) gfvmdt e w1 gty SEwe
T 2
Two cubes of 8 cm side are joined equally. Find the total surface area of
resulting cuboid.
9. fowdl gord &t w0 3R it Browmd woen 23 I w21 ¥ A mwr Sywe

2

BiharboardQuestionpaper.com
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10. 30 BT F SAwer W t Fored o % RRwiE (—5, - 1), (3, - 5) AN

(5,2)¢l 2
Find the area of a triangle, co-ordinates of whose vertices are ( - 5 -1)
(3,-5)and (5, 2).

1. k& fog 79 & forw fagtt (8, 1), (k,-4) 3R (2,-5) T@€ ? 2

For what value of k, points (8, 1), (k, — 4 ) and ( 2, - 5 ) are collinear ?

12, m%ﬁ%ﬁ%&ﬁmﬁ?ﬁﬁﬁa‘i{1,2)3ﬂ113,4)ﬁﬁﬂﬁaﬁ%@@3$‘1
2: 3% U B Siaehd: T L ¢ | 2

Find the co-ordinates of a point which divides the line segment joining the

points ( 1,2 ) and ( 3, 4) in the ratio 2 : 3, internally.
13 o dEa w5 eiaR 14 § 3 ST a7 @ K 448 & o W& I H | 2

The difference ofitwo numbers is 14 and the difference of their squares is 448.

Find the numbers.

14 TUFTES # FRT fEET WHIHT 4x2 -12x+9=0 % HeT Fehret |
Find the roots of the quadratic equation 4x% _12x+9= 0 using factorisatiop,
15. 41 eWAR e qoTish I Y e A ST aiTheT 365 8

Find two consecutive positive integers whose sum of squares is 365.

S-1I |—| 20031-(77/80)
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16

18.

19.

22

1210
afz fedt B9l ABC @) WS BC W D UH Ul fag & fh £ADC=<4BAC o

2

.(L\ (B
w % =g

If in a triangle ABC, D is a point on side BC such that ZADC=£BAC then prove

CA_CB
that ==

6 I Faug T 40 € QUTIeHT 1 AR [eTet |

Find the sum of first 40 positive integers which is divisible by 6.

el g & 3% 0 W 13 I A W Frelt forg @ W Wi T T @ Al EA
o1 &rft afe g =i B 5 9 A 2 2

What is the length of a tangent drawn from a point Q, which is at a distance

of 13 cm from the centre O of a circle, if radius of the circle is 5 cm ?
W%Wwﬁﬁmwmwgeoaﬂ?%zwwoﬂoﬁam 2
Using Euclid's Division Algorithm, find the HCF of 960 and 432.

fag 3% 2/5 TF ey T ¢ | fere a1 & =7e sz qerat siiftsfas
: TS AU, AT Uue, iTe-Hl,

_ UTSIeh A, siled, Ale eee, de-314 3ie
Prove that 3+24/5 is an irrational number. AfFeds udten uss u= 3R & Be...

1.8 "ﬁT ﬁ?ﬁ * qUoTag ©9 .a[ a@'ﬁl ( jBlhurboardQuestlonpaper.com 9
‘K

Express 1-8 as a fraction in simplest form.

W“4E*rﬁmﬁaﬂq 3x-5y=7, 6x-10y=3 waﬁgmqﬁ%| 2

Show that the system of equations 3x SYy=7, 6x-10y=3 has no solution
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23,

24,

25.

26.

27

28,

29.

30.

[210]
?-T&; a, B a—gv-q:r ;
' S p(x)=2x2 -} : s gt L, L ey we ama 2
Ix+15 & Y[ € dl % * P
If ¢ .
&, B are the zeroes of polynomial p(x)=2x*~-11x+15 then find the value
Of—l-+~l
o i
RICEC 3x2+4x+gkaﬂw¥1\=qqa~2%a’rkwmsmﬁu 2

If-2is a zero of the polynomial 3x2 +4x+ 2k, then find the value of k.
HHITR Gt - 40, - 15, 10, 35, ... FT 10 S I T AT 2 2
What is the 10th term of an AP. - 40, - 15, 10, 35, ... ?

THIA FGH 3, 10, 17, ... 1 F-T1 95 IGF 139 U5 § 84 31 &M ? 2

Which term of an A.P. 3, 10, 17, ... exceeds 84 from its 13th term ?

ST o et FHEE B o forg w6t o Frger s Y302 %) 2

Prove that in an equilateral triangle of side a, area of triangle is J—f—ag :

fgeTe gus 22—2Z—SQ?WWI 5
Find thé€ zeroes of the quadratic polynomial z2 -2z - 8.
e Pt agug 1 ST A 3, - 1 T - 2 € o
Find a cubic polynomial whose zeroes are 3, - 1 and - 2.
zm‘twmqm D ddet)=3 #R X—hy=2 &l &1 x = 1,y=3_&'§f?‘ﬁ h 3R k <hT {HH

TqerTed |

2

If the solution of the pair of equations 2x+ky=3 and xX-hy=2 is x = 1
y = 3 then find the values of h and k.
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oY Iy v / Long Answer Type Questions

mﬁwmﬁasaﬁaﬁﬁﬂm%lsﬂﬁﬁﬁﬁ4wﬁ%m§|mm%
forw 5 st fuife 1 4x5=20

Question Nos. 31 to 38 are Long Answer Type questions. Answer any 4 questions. Each

question carries 5 marks. 4x5=20

31. ek YHIROT I x - 4y + 14 = 0 T 3x + 2y - 14 = 05 FOE T IR B
|

5

Draw the graphs of pair of linear equations x- 4y + 14 = 0 and 3x + 2y - 14 = 0
and solve them.

32. T FHPIVT BT 7 o S UK F 7 G @ & o @b 13 Qe &) gt
YR FTT Y | 5

The perpendicularof a right angled triangle is 7 cm less than its base and its
hypotenuse.is 13 cm. Find the base of the triangle.

33. TR B R 99 % A ¥ oRi W dieh et Yard wniew a3

(9]

Prove that the tangents drawn at the ends of a diameter of a circle are paralle].
34.  UH YT ABC I T i gt 91T BC = 6 99I, AB =5 9H} 1a ZABC=60°
mwwﬁwﬁmﬁmﬁw AABC ﬁ@mgmaﬁﬁ%%z 5

Construct a triangle ABC in which BC = 6 cm, AB=5cm and ZABC=60°; then

construct a similer triangle whose sides are %— times the corresponding sides of

AABC.
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(210

35 HL 1 i
- T T e (cosecA-sinA) (secA-coSA)=Tm A cot A
. 1
rove that (cosecA-sinA) (sec A —co0sA)=mnA+cotA’
36. ﬂwﬁqﬂaﬁwﬁwmaﬂﬁwaﬁﬁ%'ﬁ el <t
eI F W } 600 U a5¢ ¥1 AR QA v ki H FH 100 T F A
CTECEIRH &t S 1 Y| >
Two ships are approaching a lighthouse from opposite directions. The angles of
depression of the two ships from the top of lighthouse are 60° and 45°. If the
distance between two ships is 100 m, find the height of the lighthouse.
37. zzwﬁﬁm&aﬁwaﬁamaﬁﬁwqa??ﬁﬂwmﬂwm
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A solid cube of ed !
| | edge 22 cm is melted to form a circular cylinder of length 7 cm
Find the radius of cylinder,
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